F—H#hs - BAEE
(%) THIFAGIALERHE, HOE TOL, #MuE "%,
(%) &xd, B, CRIEM, OXTFHEE, IFnBEER,

L RARZ=RHE, HA+0, BlALERAE,
3

2. }24+3B=4C, Al4=2C-5B,

_E 3 1 1 I”’l a]:[l 0]
ATy O EUL} 2/lo 5= lo 1)
05! [} s, ma b momr na-s
“Blo 9l4 10 o , BA, BR-RKE, HlA=B,
g ﬁﬁz[@sﬁ _Siﬂﬂ]ﬁﬁ‘%ﬂ BlA=1,

sinf cos
6. HAC, BCEHEEE, HAC+BC=(4+B)C=C(4+B),
[y &
7. —Zﬁﬁj@&m?&fﬁﬁﬁﬁﬁﬂil 3|, BIZEP(1, 3)HEBAVEER, HITBEMRE
o1

£(3,3),
1 0
8. HF—HBMHEEIRE L} sy ] RIL L2 T S0 5 L o i 5 S PR A S R

ifa,
Bty HxEE
2 1 |2 )
l. EFI=5@A, B, Cf, AJI - 4], B=[1 1| C=[-1 1]‘
13 2 0
4 1 L 2 2
H|2B-3C= , AB= L EXBIx2ERE
2X+3(B-2C)=4X+2(2B-3X), HIX=
0 1 -1
2. % HEB=|4 -3 4|, HI|B:= . B'=
3 =2 #

.doc

i
HBX=|2|, HlX= :
3
1 —1 10
> %F{_l I}, fz-*[ﬂ J. fila*= ; A= , (h+d)=

4 JFmEA=ELERS, & 8", ERSFH(3,2)BH S, SiEH30°E
F S, RIELP(L, 2)HAERS' ARE . BPHYFERS"THNERR
, HEOHLBERS"HAER(x, »), R QHLER SHILER

— sin &

HrBE#H, 0<6<x, Al

sin ¢ cos

_ﬁl - [cnsﬂ

6.3 0(0 0), A4, 2)EFE LTS, ()5 AAOBEBE=AFHBEE — %R
M, BIBAY 4 ES DB OABCEEHECHESE —~SERN. H
OC=204, BITHE CRy4ME

F=Wsy  WEE
3

2
4 5 s 1
i Eﬁ?ﬁﬁﬁfi:[ ° P= ] AAE T IS RHE
1 3 5 —-1].
|7 5
xEP ", @QRP AP, @B)ka™, ;
2. TR LE—IFEAFABCD, A(0,0), B(2,0), C(2,2), D(0,2), &H

1 2]
RIERBTZRIKIFEA, B, C', D", BHTHEMERR| )

mifa - (DA4', B', C', D'®L R ?
(2)u8f4', B', C', D'EFARBU R & 51T 7



3. ®TES, EABPORSH, P(0,0), 00, 1), j4PORSE—RFlHkE
FANE POR'S, HAEEL M, N8 GPWEP, PREP,
PR P, HERMIEEREE, LITEFTEES AR

Pl @01,0)

MBS HIEH L, MESEeERRT,

@z T#RARL, M, N=Z{ABIENEE, FART(x, y).

.doc

= o

Pil1.3) §¥{3.2.3)

Pl 2

F—EBs : BEE
L% 25
FTAES - AT

3. X

[ 20 ?]
¥ I';-g 5 L]

1
[—

0 07 0 I
2.0 1 GJ‘ {4 -3
0 1 3 =3

=

4.(=2,0), (-/3,1),

[64 0
5.2,
0 64

3'2—2] [4—4]
=2 2] -4 4]

6.(2—-4/3,1+2/3), (-4, 8)

H=84r - BHRE
SEENE

1 [1
T.(l)ﬁLS —E} (Eji[{}

2.(DA'(0,0), B'(2 2),

3{1‘11—[2 0] M“[ﬂ
S| zJ' 1
0 11[2

(T =
(x,») L UJ 0

BT (x,y)=(2y+1,

44X X 66X 10
i 13
R &
R A |
4 3
13
| 4 "]
~1 =1
4 lm}
4 9
[ 14 —13]
—-13 14 |
V3x—y . x+/3y
(3+ 3 , 24 5 )
T yw g_ar T ym
0 i 8+5{m] 8 S{m)
e {d}ﬁ ; 7
20 S—S(E) 5+8(55)"

C(6,4), D'(4,2) QFiTmiEd, 4
:

0

0][=x 1
2l s )

2x+1.5)

2y+1
2x+1.5

¥

|



